
ADJUSTING DRAWBAR 102VB TYPE N WITH DRAWBAR PROFILE AND PARKING BRAKE TO 1100KG

ETI- No.  811674 (Specify the order with the ETI No.) Spare Parts

Item Description Part No. Item Description Part No.

DRAWBAR EYE               DIN Ø40 INCL. (POS.3,4) 1213350 14 WASHER DIN125-A8.4-A3C 700138

ENGLAND Ø30 INCL. (POS.3,4) 1224106 15 SPLINT PIN DIN 94-2X16-A3C 702802

ENGLAND Ø40 INCL. (POS.3,4) 1224107 16 BEARING BOLT M16X1.5X198-A3C 372772

ITALY Ø40 INCL. (POS.3,4) 1224108 SPACER SIDE ARM RIGHT 750MM LONG

ENGLAND Ø50 INCL. (POS.3,4) 1224109 WITH LABEL WITH PARKING BRAKE

FRANCE Ø68 INCL. (POS.3,4) 1224110 18 GEAR HEAD ADAPTER 70.1VO/75VU/102VB-VZ 1369158

NATO Ø76 INCL. (POS.3,4) 1224111 19 SPACER SIDE ARM LEFT 750MM LONG 1650503

SWEDEN Ø57,5 INCL. (POS.3,4) 1225076 20 WASHER DIN 988-17X24X1.5-A3C 701696

2 COUPLING                         AK 160 INCL. (POS.3,5) 249277 21 CLAMP HANDLE M16X1.5-A3C 365416

3 HEX NUT DIN 985-M12-10-A3C 702750 22 BUSH 372770

4 HEX BOLT DIN 931-M12X90-10.9-A3C 703341 23 SNAP RING DIN 7993-A14 702300

5 HEX BOLT DIN 931-M12X75-8.8-A3C 701959 24 SPLIT PIN WITH CHAIN 604103

6 DRAWBAR PROFILE KOMPLETE * * 25 WASHER DIN 9021-ST-A13-A3C 702798

7 SUPPORT FRAME 70X140 1211104 26 SPRING WASHER DIN 137-B16 701968

8 DRAW TUBE * * 27 BOLT 647585

9 BALL SEAT NUT M8-A3C 365137 28 BRAKE AWAY CABLE FOR HAND BRAKE LEVER 209534

10 HAND BRAKE LEVER INCL. BRAKE AWAY CABLE 1212879 29 SPLINT PIN DIN 94 4X20-A3C 704094

11 FISHPLATE 647411 30 BILND RIVETS A6.4X12 702704

12 BOLT DIN 1434-8X22X19-A3C 702666 31 WASHER SAFETY SW 22 375101

13 HEX NUT DIN 934-M8-8-A3C 700108 32 BEARING BOLT M16X1.5X246-A3C 1302325

33 BEARING BOLT M16X1.5X216-A3C 372774

SPACER SIDE ARM RIGHT 750MM LONG

WITH LABEL WITHOUT PARKING BRAKE

ETI-No. changed Reason of the change Revisons-No.

811674_en A

1652403

1652404
34

Change No.

FREIGABE

provided

05.07.13/ÖJ

1

17

** ** FOR SAFETY REASONS: SELF-LOCKING NUT AND SCREW WITH CHEMICAL SELF-LOCKING MUST BE USED ONCE. AFTER 
UNTIGHTEN ALWAYS USE A NEW SPARE.   

* * INDICATE LENGTH AND DIAMETER AT THE TIME OF ORDER ! 

** ** 

Hersteller / Manufacturer / Fabricant: AL-KO Fahrzeugtechnik - 89359 Kötz - Germany  Seite / Page  1 -1


